Higher : Quadratic Theory Revision
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—3(x+ 1)?+ 10
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m < 1,m>9witheg sketch or table of signs
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= (b) £(x)=x>—10x+ 27
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§ g (x) > 0 for all x and so g(x) is
always increasing.
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S | P’ is positive, so b’ — 4ac is positive too
Q | and roots are real.
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W+ 3x A+ 4=0x+ 1
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Evaluate f(0-1) and f(0-5), for exam-

ple, to start with
a=0-2
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£ (@) f(x) = (+-2) + 1
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discriminant = (—=5k)* —4(1 - 2k)(—2k)
=9k +8k
for real roots, discriminant > 0
o
O | ie 9K +8k=0
a k(9% +8) >0
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§ k20ork<t
no integers between 0 and >
hence no integral values of k&
give non - real roots
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L@ v=ka+ Dx-p)
8’ k = -1 with justification
N 1e substitute (0,p)
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— y==1(x+ 1)(x — p) and com-
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(a) y=4x—x°




3 4x-x'=2-Fx=2x"-9x+4=0
1 - _ _ (17
5| ¥=y,0=4=P=(40), Q=(%,%)
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S (@) 2x+2)°-11
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g 0 (=2,-11)
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